HEBUEAZRBFYAILE

BIEHE—R (BT T=5EMIARR)
ENBUREEAEE
(B) sM3F4H1H (¥) wM4F3H31H

(Bf7 : M)
BhERIE WIERRE(A) RILERSRE (B) 1=R(A)-(B)

o[ [ REERNE 194, 451, 601 191,571, 129 2,880, 472
| | g [BEAEE S SR 99, 700 78, 300 21, 400
e [o—EEsREEt (1) 194, 551, 301 191, 649, 429 2,901,872
NG 164, 752, 801 156, 656, 256 8, 006, 545
| |ExHE 18, 695, 441 18, 783, 550 -88, 109
5| 7| FHH 9,278, 686 8, 444,210 834, 476
jes | g | HATHELEDES 13,017, 673 16, 349, 999 -3, 332, 326
S| | B & S B T S ERHAAE -9, 510, 283 ~13, 961, 347 4, 451, 064
B zomosm 0 0 0
Ol v-exzEmaEmat (2) 196, 234, 318 186, 272, 668 9. 961, 650
B[P EE S EESE (3) = (1) — (2) 1,683,017 5,376, 761 7,059, 778
EASF S MBI DINES 0 0 0
ZHF S A A D UNES 17,101 17,735 -634

| | aEms 0 0 0
| [ ¥R EMmE TN 0 0 0
v | % |1 E B M 0 0 0
2| |1EEsEmiEsTs 0 0 0
| |[Roftos-—tRESHIME 2850, 415 2,762, 280 88, 135
5| |P—CAEBSMREET (4) 2 867,516 2780, 015 87,501
o] [FLFIR 0 0 0
| |EMEESS A 0 0 0
; o [ETAESS S5 A0 0 0 0
P | IREHTEE 35 SR 0 0 0
f g0 ilH| &= b lE ] 0 0 0
B |zothoy—PEENIER 3,241, 888 3,983, 570 ~741, 682
Y- EEMERET (5) 3 241, 838 3,983,570 741, 682

Y EENINERELE (6) = (4) — (5) ~374, 372 —1, 203, 555 829, 183
REIEREEE (7) = (3) + (6) —2. 057, 389 4,173, 206 6, 230, 595
MR R B R UNES 1,469, 000 3,065, 000 =1, 596, 000
HEER R B R NS 0 0 0
ERERESBASTEEESHEINE 0 0 0

| B ERE=eE 0 0 0

% | BT EES% 0 0 0

e H—EXAXD A DUNG 0 0 0
| [ROMOREEBIRES 0 246, 240 246, 240
oo | [EBIRESET (8) 1,469, 000 3,311, 240 1, 842, 240
| |EARMEAE 0 0 0
| |EEEESIE LA 2 1 1
| | DR SR R AR (REE) -2 -1 -1
2| B | E RS SR a8 1, 469, 000 3, 065, 000 -1, 596, 000
| se=1Bk 0 0 0
Y- 2EDRHRA DB 0 0 0
ZOMOEERIIEL 0 246, 240 246, 240
Y5RIEEET (9) 1,469, 000 3,311, 240 =1, 842, 240
ERIEHERE (10) = (8) — (9) 0 0 0
LHREINERELE (11) = (7) + (10) =2, 057, 389 4,173, 206 =6, 230, 595
* [RiEpE R e SRR (1 2) 77,387, 951 79, 214, 745 1,826, 194
= [MEAREMUEBMERAEE (13) = (11) + (12) 75, 330, 562 83, 387, 951 8, 057, 389
w [EASEREREE (14) 0 0 0
4 [zt ET SRS (15) 1,320, 000 0 1,320, 000
v 2B SBIIAE (16) 4,000, 000 6, 000, 000 2,000, 000
s REFEHMOEENERESE (17) = (13) + (14) + (15) — (16) 72, 650, 562 77,387, 951 ~%, 737, 389

1/1




